
Shroud Covers - Before 3/1/00



Shroud Covers - Before 3/1/00
Item #'s 1-5 Shroud Covers Before 3/1/00

Item 
Number

Candy Apple
RedDescription Bright Plum

Metallic
Bright Blue

Metallic
Bright Silver

Metallic
Blue Green
Chameleon

1085094-NLA
 

1074944-NLA
 

1074945-NLA
 

1074943-NLA
 

1074942-NLA
 

Side Panel 
(Captain)
 - Right

1
See Note(s) B, D See Note(s) B, D See Note(s) B, D See Note(s) B, D See Note(s) B, D

1085095-NLA
 

1074948-NLA
 

1074949-NLA
 

1074947-NLA
 

1074946-NLA
 

Side Panel 
(Captain)

 - Left
1

See Note(s) B, D See Note(s) B, A, D See Note(s) B, D See Note(s) B, D See Note(s) B, D
1085092-NLA

 
1074977-NLA

 
1074978-NLA

 
1074976-NLA

 
1074975-NLA

 
Side Panel 
(Sling Seat)

 - Right
1

See Note(s) B, D See Note(s) B, A, D See Note(s) B, D See Note(s) D, B See Note(s) A, B, D
1085093-NLA

 
1074981-NLA

 
1074982-NLA

 
1074980-NLA

 
1074979-NLA

 
Side Panel 
(Sling Seat)

 - Left
1

See Note(s) B, E See Note(s) B, E See Note(s) E, B See Note(s) E, B See Note(s) B, D, E
1085088-NLA

 
1074972-NLA

 
1074973-NLA

 
1074971-NLA

 
1074970-NLA

 
Battery Cover

- 16" Wide2 See Note(s) C See Note(s) C See Note(s) C See Note(s) A, C See Note(s) C
1085087-NLA

 
1074968-NLA

 
1074969-NLA

 
1074967-NLA

 
1074966-NLA

 
Battery Cover

- 18" Wide2 See Note(s) A, C See Note(s) C See Note(s) C See Note(s) C See Note(s) C
1085086-NLA

 
1074964-NLA

 
1074965-NLA

 
1074963-NLA

 
1074962-NLA

 
Battery Cover

- 20" Wide2 See Note(s) C See Note(s) A See Note(s) C See Note(s) C See Note(s) C
1085091-NLA

 
1074960-NLA

 
1074961-NLA

 
1074959-NLA

 
1074958-NLA

 
Trunk Lid
- 16" Wide3 See Note(s) C, A See Note(s) C See Note(s) C, A See Note(s) C See Note(s) C

1085090-NLA
 

1074956-NLA
 

1074957-NLA
 

1074955-NLA
 

1074954-NLA
 

Trunk Lid
- 18" Wide3 See Note(s) C See Note(s) C See Note(s) C See Note(s) C See Note(s) C

1085089-NLA
 

1074952-NLA
 

1074953-NLA
 

1074951-NLA
 

1074950-NLA
 

Trunk Lid
- 20" Wide3 See Note(s) C, A See Note(s) C See Note(s) C See Note(s) C See Note(s) C

1070562-NLA
 

1070562-NLA
 

1070562-NLA
 

1070562-NLA
 

1070562-NLA
 

Rear Storage
Compartment, 

- 16" Wide
4

See Note(s) C See Note(s) C See Note(s) C See Note(s) C See Note(s) C
1070561-NLA

 
1070561-NLA

 
1070561-NLA

 
1070561-NLA

 
1070561-NLA

 
Rear Storage

Compartment, 
- 18" Wide

4
See Note(s) C See Note(s) C See Note(s) C See Note(s) C See Note(s) C

1070560-NLA
 
 

1070560-NLA
 
 

1070560-NLA
 
 

1070560-NLA
 
 

1070560-NLA
Rear Storage

Compartment, 
- 20" W

 
4

See Note(s) C See Note(s) C See Note(s) C See Note(s) C See Note(s) C
1071655-NLA1071655-NLA1071655-NLA1071655-NLA1071655-NLAStorage Shelf,

Rear5
A - Shrouds made before 3/1/00 are NLA.  See page titled, "Shroud Covers - After 2/29/00" and select a color conversion package. 
B - Decals not included.  See page titled, "Packaging, Literature and Decals." 
C - Captain seat shrouds on 18" wide only. 
D - Side Panel (Captain Seat) includes rubber bushing. 
E - Side Panel (Sling Seat) includes rubber bushing. 

NOTE:



Shroud Covers - Before 3/1/00
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
See Chart Item #'s 1-5 Shroud Covers - Before 3/1/00 1 11-5

1070565-NLA NLA - Bracket, Shroud, Black - Right 1 16
1070566-NLA NLA - Bracket, Shroud, Black - Left 1 16

1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 47
1028516 Washer, Steel (3/16 x 7/16 x 1/16") 1 28

7930332-NLA NLA - Locknut, High Profile (#10-32) 25 19
1070575-NLA NLA - Screw, SEMS w/ Washer (#10-32 x 7/8") 1 210
1070588-NLA NLA - Screw, Phillips Truss Head  (#10-32 x 1/2") 1 611

1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 412
1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 413

1070564-NLA NLA - Hardware, Side Panel Attaching 1 1A,B
1070577-NLA NLA - Plate, Trunk Clip 1 214
1070583-NLA NLA - Stud, Wing Head (3/4" Long) 1 215
1070581-NLA NLA - Washer, Nylon Cupped (9/32 x 19/32 x 3/32") 1 416
1070580-NLA NLA - Washer, Nylon Retainer (1/4 x 1/2 x 1/32") 1 417
1013497-NLA NLA - Fastener, Turn, Clip-On (1/4") 1 418

1070585 Stud, Oval Slotted (1" Long) 1 219 C
1070574-NLA NLA - Stud, Wing Head (1" Long) 1 219 D
1070556-NLA NLA - Fastener, Dual Lock (1" W x 2" L) 1 220
1070555-NLA NLA - Fastener, Dual Lock (5/8" W x 2" L) 1 221
1070594-NLA NLA - Bushing, Rubber 1 222
1070563-NLA NLA - Plate, Trunk 1 223
1070582-NLA NLA - Rivet 1 424
1062096-NLA NLA - Fastener, Loop (1/2" W x 1" L) 1 425

A - Not Shown.  
B - Includes items 6-13.  
C - Before 2/11/98.  
D - After 2/10/98.  

NOTE:

 


